Jack has £2 and 90p.
Teddy has three times as much money
as Jack.

How much more money does Teddy
have than Jack?

Rosie has twice as much money as
Teddy.

How much more money does Rosie have
than Jack?

Reasoning

Three children are calculating £4 and
20p subtract £1 and 50p.

£4—£1=¢2
20p — 50p = 30p
£14 30p = £1and 30p
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The difference is £2 and 70p.

£4and 20p — £2 = £2 and 20p

£2 and 20p + 50p = £2 and 70p
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Who is correct? Who is incorrect?
Which method do you prefer?



Answers

Jack has £2 and 90p. Jack: £2 & 90p Three children are calculating £4 and Annie’s second
Teddy has three times as much money Teddy: £8 & 70p 20p subtract £1and 50p. step of calculation
as Jack. Rosie: £17 & 40p is incorrect.
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